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Addition and subtraction facts

Using bonds to 10 and 100

Sometimes, we can see and use
+| 0 2 3 4 5 6 7 8 9 10 !
number bonds to help us add,
0J0+0|0+1|0+2 | 0+3 |0+4 |0+5|0+6|0+7 |0+8|0+9 | 0+10
62 48 = 110 rather than the formal method.
1 11+0 | 141 [ 142 | 1+3 | 1+4 | 1+5 | 1+6 [ 1+7 | 1+8 | 1+9 | 1+10 + -
2 |2+0 | 241|242 | 243 | 244 | 2+5 | 248 | 247 | 2+8 [ 2+9 | 2+10 / \_ _____ / \ I know that 60 + 40 = 100
. .
313+0|3+1|3+2[3+3|3+4[3+5|3+6(3+7|3+8[3+9|3+10 60 ‘._2_____8/’ 40 | know that2 + 8 = 10
4 |4+0 | 441 |4+2 |4+3 |4+4|4+5|4+6|4+7 | 4+8|4+9|4+10 10
100+ 10=110
515+0 | 5+1|5+2 |5+3 |5+4 |5+5 | 546 |5+7 | 5+8 | 5+9 | 5+10
6]6+0 | 6+1|6+2 |6+3 |6+4|6+5|6+6|6+7 |6+8|6+9 | 6+10
717+0| 741|742 | 743|744 |7+5|7+6|7+7 | 7+8|7+9|7+10
8|s+0|8+1|8+2|8+3|8+4|8+5|8+6|8+7|8+8|8+9|8+10 Interpreting bar models I know the place value in 3-digit numbers
9|9+0|9+1|9+2|9+3|9+4|9:5|9+6|9:7|9+8(9+9|9+10 .
101040 [10+1/10+2|10+3 [10+4 |10+5|10+6 [10+7 |10+810+9|[10+10 100 @ .
Multiplication tables — the 144 facts | need to know by the end of Y4 25 25 25 25 @ @
1x1 1x2 1=3 1x4 1=5 1x6 1%7 1x8 1=x9 1x10 1= 11 1 =12
2x1 2x2 2x3 2x4 2x5 2x86 2x7 2x8 2x9 2x10 2x11 2x12
100=25+25+25+25 100=4x 25 1,000 2000 3000 4000 5000 6000 7000/ 8000 9,000
3x1 3x2 3x3 Ix4 3x5 3x6 3x7 3x8 3x9 3 =10 3x11 3Ix12
100 200 300, 400 500 600 700 800 900
4x1 4x2 4x3 4x4 4x5 4%6 4x7 4x%8 4x9 4x10 | 4x11 | 4x12 100 + 4 = 25 100=25x4 100+25=4 10 20 30® 50 60 70 80 90
5x1 5x2 5x3 S5x4 5x5 5x86 5x7 5x8 5x9 5x10 5x 11 5x12 1( 2: 3 4 5 6 7 8 9
6x1 6 x2 6x3 6 x4 6x5 6x6 6x7 6x8 6x9 6 x10 6x11 6x12
7xA1 Tx2 Tx3 Tx4 7x5 7x6 Tx7 7x8 Tx9 7x10 7x11 Tx12 scallngfaCts by 10
Bx1 | 8x2 | Bx3 | 8xd | Bx5 | Bx6 | 8.7 | 8B | Bx8 | 8210 ) G211 | Ex12 If | know that 5 + 6 = 11, then | know that 5 tens + 6 tens = 11 tens so 50 + 60 = 110
9x1 gx2 9x3 9x4 9x5 9x6 9x7 9x8 9x9 9 =10 9x 11 9x12
0% If I know that 12 —5 =7, then | know that 12 tens — 5 tens = 7 tens so 120 — 50 = 70
10 %1 10 % 2 10x3 10x 4 10x 5 10%6 107 10 %8 10x9 |10=x10 | 10 = 11 12
Mx1 [ 11x2 | 11x3 | 11x4 [ 11x5 | 11x6 | 11x7 [ 11x8 | 11x9 |11 x10 [ 11x11 1:; If | know that 5 x 4 = 20, then | know that 5 x 4 tens = 20 tens so 5 x 20 = 200
12 x 1 12 x2 12 %3 12 x4 12x5 12x6 127 12x8 12x9 [12x10 | 12x11 | 12x12
Counting in 2s, 5s and 10s and applying this to scales l l l l
and number lines RN R AN AR R AN RN R AN N A NN N N AL RN RN N LA NN AR RN ANNAE!
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Fractions

| can count in tenths. | know that 10 tenths = 1 whole

1 1 1 1 1 1 1 1 1 1
0 | 10 10 | 10 0 | 10 | 10 0 | 10 | 10
I can find unit fractions of an amount. | know the
denominator tells me what to split my whole into.
35 % of 35
7| 7|7 | 7|7 35+5=7
—— So % of35=7
1
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The whole has
been divided
into equal parts.

5 of the parts
are shaded.
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There are 6
equal parts.
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| know that when the numerator and denominator are the
same, the fraction has a value of one.
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| understand what each part of the fraction notation means.

Measure — Each intervalis 5 g | } t } } | H i
0g 5g 10g 15g 20g 25¢ The interval is 10mi.
E ] . — Therefore, the
R - volume is 1/ and
e e e e peeyeeer|  Eqich intervalis 10 g. I t |
3 120 g 30g 140 g 500ml.
—
The capacity of the
Each interval is 50 g. b + t } } | . is 2/
10mm = 1cm so 50mm = 5cm 500g 550g 600g 650g 700g 750 jugis 2.
Telling the time Geometry
i Horizontal and vertical lines
The big hand tells
me information w2 nRo n 2o
2
about the minutes. qm } 23 qm 3 qm\__23 v |
8 4 8 8 4 ertca
7 5 LA 1 7 5

The small hand
tells me

the hour.

24 hours =1 day

information about

5 minutes past 2

20 minutes past 2

1l 2
0 2
60 seconds = 1 minute 9 3
60 minutes = 1 hour 8 4

7 g S

6 minutes past 5

w2y
10 2

q 3
8 V 4
7 6 \s

27 minutes past 4

50 minutes past 2

This is the same
as 10 minutes to
3.

Horizontal

Perpendicular lines —
they make a right

Parallel lines

+

—_—

angle

XII
XI |

X i Perimeter — the total distance around a shape

Roman T. _________ 7_ ___________ . H

cm

IX I 1

numeralsto 12 1II .: 3em 3em i

Vil v il 7cm |3

VI VI ¥ The perimeter for the rectangle is 20cm
Right angles

180"

s
walf turn

3 rig

3 quarter tums

4 nght angles
4 quarter tumns or full turn
360

ht argles

270"




